2 E Al
20128 = =04 LBHSIH A6
AT AN A
Arcpe (8RS
ZHUX YMLEO| O (el &
_ _ pSNE e
SN - (3H) - cPsl Aol Gil it o HRE2
PGS AR A 21,179,194 26,375,201 25,196,007
= 5,202,000
= 5,945,000
& 531,500
= 9,500,694
(P ES /Mot 9,151,011 9,441,619 A 290,608
= 5,525,000
= 33,000
i 3,593,011
AR Y=o OHF 7,697,500 7,592,000 105,500
= 4,893,000
i 2,804,500
SHEYEESNY 4,890,000 4,681,000 209,000
= 3,770,000
i 1,120,000
401 A& HIZ 2 OHHI 4,890,000 4,681,000 209,000
= 3,770,000
2 1,120,000
01 Al&H] 4,579,000 4,422,000 157,000
OZ .ot R 3,155,000
& 2,533,000
= 622,000
(©F=y DNENR=IES S 1,424,000
= 1,000,000
= 424,000
02 Zcldl 296, 160 250,000 46,160
092 - ot Xl 296,160
= 237,000
i 59, 160
03 A& 20| 14,840 9,000 5,840
CEERETP 10,840
Sofl K & af== 4,000
2 A2 AL 2,807,500 2,911,000 A 103,500
2 1,123,000
i 1,684,500
401 Al EHIZ 2O Y| 354,000 0 354,000
= 141,600
= 212,400
01 A& H 354,000 0 354,000
O4=+2L GID B HEEZ 354,000
= 141,600
= 212,400
403 THXI SHHI S T2 2,453,500 2,911,000 457,500
2 981,400
i 1,472,100
02 Z2JI1&S0tHs 2,453,500 2,911,000 A457,500




A AGtETARY A
Y ALCR(BHES/NEIEE - +H)
Chel: ZAHUTYALCo OHEN 25 (&te @
- < - PSS I =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @E% Hl =2
QAT 2AUF MR A AR DAZ ALY 2,453,500
2 981,400
= 1,472,100
SHEXNS0ISALE HENE B3 1,453,511 1,849,619 1396, 108
2 632,000
[= 33,000
= 788,511
ARDLCAE 2Y 168,511 185,419 216,908
201 L2 AH| 159,091 175,369 16,278
02 22294 159,091 175,369 N16,278
O 2 AtH] 159,091
OXlota=2 =2 AHI (101 & =2)2E 13
75,800 *255JH A 19,329
OHZ22=2d2=HAHI(BIES)ELD15]
27,0002 *330 A *23 1,782
OHZ 4222 AHI(9HE2)2EH 13
217,000 %3304 A& 7,161
OltS4a2=S A A (551 & =2 )H 135
283,920 2887 A 81,769
OlISAx=CHAHI (13E=2)2018
56,5202 x288 K A «33] 48,834
O4=H =ZAAMHI(GHE=2)2014
27,0002 x24 A x43] 216
206 M 2H] 9,420 10,050 AB30
01 24 9,420 10,050 AB30
OlISALZT2EAAE 2RM2HRY
170,000 x302F A 5,100
onlSMsEASHZ O
5,0009 x3kg x288J1 A 4,320
SESHMELINLAIY 524,000 689,200 A 165,200
2 367,000
= 157,000
401 Al HIL 201 524,000 689,200 A 165,200
= 367,000
= 157,000
01 Al&H] 520,000 686,200 A 166,200
SESHMES LD ALY (3 L) 520,000
2 367,000
= 153,000
03 A& 201 4,000 3,000 1,000
OSESHME LI AS (3HA) 4,000
ARRETAIEINSALY 378,000 321,000 57,000
2 265,000
= 113,000
401 A& HI 220 378,000 321,000 57,000




X XH . A}
o Tt

A 4ok
(=} 0
Hell sUHE

_ _ MNuE o
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 265,000
= 113,000
01 A& HI 376,000 319,000 57,000
OARB2EZAEMNZFAIS (300 2) 376,000
= 265,000
i 111,000
03 A& R0 2,000 2,000 0
OLAR2+ZAIEINEALA (30 2) 2,000
AT HZRH 3,000 4,000 21,000
202 (44l 2,000 3,000 21,000
01 S LHA bl 2,000 3,000 A 1,000
O=2td =AY 2,000
203 ¢ F =&l 1,000 1,000 0
03 AIMZ=X A2 =Y 1,000 1,000 0
oMY DI/NZ 1,000
2AE2FEANENEFAS 270,000 479,000 A209,000
401 A& HIZ 20| 270,000 479,000 209,000
01 Al£Hl 270,000 479,000 A 209,000
OLRESSTAIENE AL 150,000
OLARZSTEANENSESLAELIIEX
2,000,000 3074 2 60,000
OLR2HEZAEAASEI B AH20 L)
2,000,000& 207 2 40,000
O=ZEE2M0l 23t ™ & X ALY (2001 2)
2,000,000 1090 £ 20,000
AR AR E 22 ALY 110,000 121,000 A 11,000
= 33,000
= 77,000
401 Al EHIZ 2OHY| 110,000 121,000 A 11,000
L= 33,000
= 77,000
01 A& HI 110,000 121,000 211,000
OAMRL2S+Z A AE 22| ALY (22001 &) 110,000
= 33,000
= 77,000
=30t el (BEE2S /465 - 2=3) 7,712,702 12,397,094 24,684,392
= 2,914,000
= 420,000
= 498,500
= 3,880,202
St=2aXelAME23 918,892 842,134 76,758
St=XelAld 2 2tel 653,461 580,611 72,850
101 @1 2d| 28,741 25,010 3,731




A dot=E A A
B DB/oAE 2ol (BHDE/HOSE - 2B)
& St MelAE2g (el =2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
04 JIZtHI22XNHSE+ 28,741 25,010 3,731
OANZ2cd & AEMEXREA RY 28,741
oJl=zs 36,720 x2H 250 18,360
ORs5g=H 36,720 x2H 52 3,819
Osg2f=g 55,080& 52 2,865
ORrasIt=g 36,7203 x2H 10 735
O=0=2E= 25,599,000 *4.5% 1,152
OHEEE2RE3 25,599,000 *2.54% 651
OLRABSE RS 651,000 *4.78% 32
OuNs=2E=Rg3 25,599,000 *1.3% 333
OMEE R 25,599,000 *3. 1% 794
201 YEr2gy| 451,630 426,401 25,229
01 AR 2t eld| 16,000 16,000 0
OgBt=2H| 14,200
OHJI=Heldl 13,000
—ot=&g &S cltl 130,000& 100 13,000
Odt=sdAl 42244 300,000 »43] 1,200
o1ul=t| 1,800
oxg=s 60,0003 x 10 *23l 1,200
Ot 40,0003 *x10€ *13l 400
O 20,0002 x10H =13 200
02 23244l 435,630 410,401 25,229
0z322= & HAl 372,100
Odt=He A3 (2R, ESAIEEE)
30,000,000 «12& 360,000
(OFSPIRCIFSE=—k-1a] 100,000& 13 100
OSLHHA d=2l4Hl 1,000,000 12& 12,000
od =4l 1,020
OAIEZLRHABHI(ZER)
1,700& 50 £ x 1228 1,020
O A& &EHI= Xl 57,300
OIIAANE R 22 15,500
—detE TR X 2| 400, 0003 »5CH 2,000
—=SHZRA22 500,000& *5CH 2,500
—dsdEEsH 500, 0003 +2CH 1,000
— &2 2 ZE01=4 1,000,000 +8CH 8,000
—E=J|7 X2l 1,000,000& *2CH 2,000
OdIIANERX 22 5,650
—III2SRIES 50,000 =334 1,650
—HIIANELAEE 20,000& 100103 2,000
—SLHUAHAPCSIHEF Y 200, 0003 *5JH4 1,000
—HA=ZHl = 500, 000& +2CH 1,000
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A dot=E A A
HH: 2o+ 2o (BHES/46teE - +F)
ool BaSn ALY (el & 2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
O=&S =X &t 31,350
—IN/TPEEI| A2F WA
1,600,000 »2& 3,200
—TN/TPOIIEI 2 800, 000& 65 4,800
—TN/TPA 2 Al 1,500,000& *43] 6,000
—CoD &= 1,500,000& *33 4,500
—C0D JIEtAE S 170,000& *5& 850
—=5/EZz+2H 1,200,000& x2N E 2,400
—J T el d At 3,200, 000& *33] 9,600
O g FHIR XL 4,800
— & MEJEEHU 1,500,000 *2CH 3,000
—DOOIEH&E =10 A 700, 000& +2CH 1,400
—SS2MEDJEHuA 200,000& =23 400
OXtg & et 2,605,000% 2CH 5,210
202 44l 6,700 6,480 220
01 =i bl 5,650 6,480 A830
Odt==HMlAE P R=E NI 5,650
05 BEF& WA 1,050 0 1,050
Oz &4Gt=E8 3l W=s0tl 350,000 3 1,050
203 J =&l 1,000 1,000 0
03 AIZHF= &R A 1,000 1,000 0
Odt+=XeIANEE 2R A N 2 1,000
206 M=l 40,200 31,600 8,600
01 MHZ 4l 40,200 31,600 8,600
Odt=HMelAld 2 ZS 72l 30,500
OLE(CIHMAM) 2003 «200kg *365 14,600
OCun=XEdH 106,000 * 150X CH 15,900
(OFSF=Fog g 9,700
Oaga A 50,0003 155 *43] 3,000
OagaxzlE®E ¢ 80,000& x 10543 3,200
Oz HECZEE #& 70,0008 *50= 3,500
401 A& HIZ 2 CHHI 125,190 90, 120 35,070
01 Al€Hl 125,190 90,120 35,070
OXSEEX WAHI HAEX &X
3,025,000& 44 A 12,100
O X HElSAH(AHY L MDA
12,690,000& * 14! 12,690
OFBAANE E=FX & 70,000,000& *14! 70,000
OCCTV 2t0iet WXl 1,240,000 +5CH 6,200
O&tst7 JIA(EZ) WA 24,200,000 =14 24,200
SLEHAL2E L 25,000 33,000 A8,000




ATt AN A
S3otaE 2Ll (BEES /A +=3)
ot MelANE2E (el =2
SN HB -9 (3H) ERR:FEE sl e HlRE2
201 et A | 15,000 21,000 26,000
02 E=2gHl 15,000 21,000 26,000
O A& EHIs Xl 15,000
O2LdHelAld |X 15,000
—E20t WA ¥ 2,500, 000& *2CH 5,000
—g&d=3gH 2,500, 000% *2CH 5,000
—go s =+ 1,000,000& *53l 5,000
401 Al EHIL 2OHY| 10,000 12,000 22,000
01 A& HI 10,000 12,000 A2,000
OMJRX Z4&Y 200,000& *50& 10,000
St=sdARSAIE2E 2 102,840 61,860 40,980
201 ZEt2FH| 73,000 7,000 66,000
02 2244 73,000 7,000 66,000
OA&EZHIS X 73,000
OR&AE BFIISTY aA
60,000,000& * 13l 60,000
ORSAE ZET 600& =10, 0000H 6,000
Odt==EHRESA te| (D1 E58, 54
10&€) 7,000
—MI|I2H+H 1,000,000& *24! 2,000
—NsEHEII=H 500,000& 45 2,000
—JIEtARE WX 100,000& *55 63| 3,000
401 Al EHIZ 2O Y| 29,840 30,000 A 160
01 A& HI 29,840 30,000 A 160
OR=AlE HHISA 10,000,000& * 14! 10,000
OR=A4g gs4d 4 19,840,000& * 14! 19,840
SHEZLY 22 60, 160 70,360 A 10,200
201 ZEt2FH| 40,360 40,360 0
01 AtR2tel 3,360 3,360 0
OgBt=2H| 3,360
O+LEHEIY FIINEBRIHHS+2
150,000& «12& 1,800
ORZHANAE =2 130,000& x12& 1,560
02 2244 37,000 37,000 0
OS=L3 XA 30,000
OBHEZHEHIQB (L, E4t)
2,500,000& 123 30,000
O A& & HI=Xlbl 7,000
Ox=EdsAHEEY R 4,500
—&J AR A =L
1,000,000 42 4,000




A AGtETARY A
HH: BI[oI+E R(BEEE/MGIHE - )
Chel: StaELHIAE2Y (&te @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
— SIS 22 500,000 x4l 500
OYAEHE IR 22 2,500
—JIEtARE 200,000 55 1,000
—QEH 500,000 *3CH 1,500
401 Al HIL 201 19,800 30,000 A 10,200
01 Al&H] 19,800 30,000 210,200
OZEHEIAR AJEl M2 A
12,100,000 * 14! 12,100
ONMEHEIE HIH ZA
7,700,000 »1CH 7,700
StEXMEIAE SAZRA5 ALY 15,964 14,158 1,806
101 @124 4| 8,814 8,380 434
04 JIZtHIR 2RSS S 8,814 8,380 434
OBt +HelAELLZTAHZ 2
36,7202 x5 x30 5,508
OKRESXN(SMX 2L e
36,720 «3% *10Y 1,102
OStEHMEIAEYAZAL222|02A (X, &
) 36,7202 x4 H x5 «33] 2,204
201 L2 A 2,350 2,778 A428
02 22| 2,350 2,778 A428
oOd¢ | 1,350
O ZINLRCI A (FER)
1,800 %50 £ *153] 1,350
O A& ZHI K XIH 1,000
OO0 Z=DJILZRCIZD| 2] 200, 0002 *5CH 1,000
206 M 2H] 3,600 3,000 600
01 24 3,600 3,000 600
OsARA(MEME) 200,000 »8Et A 1,600
Odte=HMelAe =37 R
2,000 «1000H*10& 2,000
405 XpAHE SH| 1,200 0 1,200
01 MY EEFSH| 1,200 0 1,200
oWz 2 400,000 *3CH 1,200
35totEHelAE2Y 61,467 82,145 ~20,678
201 L2 AH 57,196 57,196 0
01 At 224 4,200 4,200 0
OLtE2H| 4,200
OROIHHIAlAE S22 150,000 * 122 1,800
OIS 2 200,000 =122 2,400
02 2229 52,996 52,996 0
02222 2 HMA 32,400




SN MSREZAIE A
Y IOt ALl (BHEES/Aot=E - =F)
el St HelAeE2dY (el &
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
OfteHMelAlE ®I1e3  2,500,0008 <128 30,000
O ST =F= 100,000 x 128 1,200
Osuea 100,000 *12& 1,200
OAMEHHISXIH 20,596
OES 2=, ZZANESX 22
2,596,000,000& *0.001 2,59
O&II,JIHAE S22
3,600,000,000& *0.005 18,000
206 X 24l 4,271 2,349 1,922
01 X2 4,271 2,349 1,922
oMzl 4,271
ORnEXNSEA 9,000 *1.3kg =365 4,271
Sty % 22 194,810 232,960 38,150
OISsta T Al 29 22 194,810 232,960 A38,150
201 L2 A 46,360 46,360 0
02 =329l 46,360 46,360 0
03822 ¢ HMAl 33,060
OARIBIstaHMelANE M2
130,000 * 1904 A+ 128 29,640
OARZBIoIaHelAE ARSI XTHA
90,0002 *197H 2 %23 3,420
OANEFHISXIH 13,300
OARRZZoI:HAE JHALERXES
Hi 700,000« 190 2 13,300
202 04 3,000 3,000 0
01 22U 04l 3,000 3,000 0
OBt AL 23 2Ll 3,000
203 ¥ R =& 1,000 1,000 0
03 Al ZXQRFXIY 1,000 1,000 0
OBt 2AA0IAH A 1,000
307 QI2t0I & 144,450 182,600 A38,150
05 QI2IRIEHS 144,450 182,600 A38,150
OARZBBoI+HMEANE 2ARE 144,450
OARD2Zot:HAIE ST A A (F13])
150,000 7K A+ 128 12,600
OARZEI2ot=He AL LEAAI(F13])
150, 0002 * 127K A 523 93,600
OAl&E29 Q12| 51,0002 x2Z 185 18,870
ORIZRS FHl 45,0002 x19IH A x43| x4 H 13,680
OAl& 29yl 300,0002 * 197 2 5,700
St ALY 1,841,000 3,011,000 A1,170,000
= 1,219,000




2A: Adtx=TAIE A
M. BBl 22 (BBES/A6IxE - =E)
S St AAS (&9 HM
_ _ _ pofEN
2N -3 - c2(3H) - NEME - HES Ol & @}\_FO” Hns
= 622,000
SHol=T- MU ALY 100,000 100,000 0
401 A& HIZ 2] 100,000 100,000 0
01 A& HI 100,000 100,000 0
OsHol=C U ALY 100,000
HEHSI=2HEHIALS 997,000 1,121,000 A 124,000
= 698,000
= 299,000
401 A& HIZ 2] 997,000 1,121,000 A 124,000
= 698,000
= 299,000
01 A& HI 895,000 1,058,000 A 163,000
OHFRHGt=Z2 HEHIALL 895,000
= 628,000
= 267,000
02 2eldl 100,000 60,000 40,000
ONZ G2 HEUIAL 100,000
= 70,000
= 30,000
03 Al& 20HYI 2,000 3,000 A1,000
ONHE G2 HEBIALY 2,000
D SOt H2HHE B AL 744,000 1,000,000 A 256,000
= 521,000
= 223,000
401 A& HIZL L2 0HH] 744,000 1,000,000 A 256,000
= 521,000
= 223,000
01 Al &I 636,000 948,000 A 312,000
ODE SOt H2EHEZHIALY 636,000
= 446,000
= 190,000
02 2eldl 106,000 50,000 56,000
O Sot=Z H2HAH YA 106,000
= 75,000
= 31,000
03 Al& 20| 2,000 2,000 0
ODNHE SOt H2EHEZHIALY 2,000
St el B ALY 4,758,000 8,311,000 A 3,553,000
= 1,695,000
g 420,000
= 498,500
= 2,144,500
DY MEXE st s AIA 840,000 1,200,000 A360,000
= 420,000
< 210,000

|
©
|




S AT EAY A
Y 223+ E 2 (BALS/MELE - +E)
&2 St=XelZAY (&9 ®M
_ - P e
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
= 210,000
401 Al HIZ S HYI 840,000 1,200,000 A360,000
& 420,000
S 210,000
= 210,000
01 Al Hl 808,000 1,168,000 A360,000
ODLMENRIE S S AL 808,000
= 405,000
S 202,000
= 201,000
02 Zclhl 30,000 30,000 0
ONdHMEIMESsAl& 30,000
= 15,000
S 8,000
= 7,000
03 AI& 201 2,000 2,000 0
ONdHMEIMSssAl4 2,000
dESsHE0ISot=E=FH A Y 351,000 646,000 205,000
= 246,000
= 52,500
= 52,500
401 Al EHIZ 2O YI 351,000 646,000 A205,000
= 246,000
< 52,500
s 52,500
01 Al Hl 349,000 644,000 A2095,000
OdSsHELISot==ZEIAE 349,000
= 246,000
S 52,500
= 50,500
03 A& 2 0HH| 2,000 2,000 0
OMZs0ENSE+EHHIAL 2,000
Hol=HMel Al &8 X ALY ,400,000 5,000,000 23,600,000
401 AIEHIZ S THYI ,400,000 5,000,000 23,600,000
01 Al Hl ,400,000 4,897,000 23,497,000
ONFEIB M2l Al & X ALY 400,000
SOECRol=HMelEE XA 590,000 334,000 256,000
= 413,000
< 88,500
= 88,500
401 Al HIZ S HYI 590,000 334,000 256,000
= 413,000
S 88,500
= 88,500
01 A& H] 588,000 332,000 256,000




SN ABHEEA A
HH: DTOILT e (BYRE/MEAEE - £F)
e S B (Erol: &2
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRE2
ouEaHHPIot=Mel EE XA 588,000
= 413,000
= 88,500
i 86,500
03 A& R0 2,000 2,000 0
O EIBICHPI B4 H 2l B X ALES 2,000
S S0 NSS4 EHT AL 170,000 113,000 57,000
2 51,000
= 59,500
2 59,500
401 Al EHIZ 2 0hY| 170,000 113,000 57,000
= 51,000
= 59,500
i 59,500
01 A& HI 170,000 113,000 57,000
O Y S0/ E0t2 5t EHSAY 170,000
= 51,000
= 59,500
i 59,500
ot=Hel=THOol S A 821,000 91,000 730,000
= 575,000
2 246,000
401 AIEHIZL 20 Y| 821,000 91,000 730,000
= 575,000
= 246,000
01 Al Hl 821,000 91,000 730,000
O8t4H 2l 4 TH0I S Are] 821,000
2 575,000
= 246,000
WML SHEDNSot=TE X ALY 300,000 0 300,000
= 210,000
= 45,000
= 45,000
401 A& Bl 2 CHHI 300,000 0 300,000
2 210,000
= 45,000
= 45,000
01 Al£Hl 300,000 0 300,000
OUF TS0 0HS5t4 T & ALY 300,000
2 210,000
= 45,000
2 45,000
%S0l E0IS 514 E HUI A 286,000 0 286,000
2 200,000
& 43,000
2 43,000
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SN AOHET A A
M2 BIJo4AE B2 (BPES/MOHAE - 4 F)
Sl Gt 2 F ALY (Sl &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
401 Al EHIL 2O 286,000 0 286,000
= 200,000
= 43,000
2 43,000
01 Al&H] 286,000 0 286,000
OS50 =0HS ot S HHI ALY 286,000
= 200,000
= 43,000
2 43,000
™2 A (JIEHIIE 89,481 92,488 A3,007
IIEHE (MBI =T AL A) 89,481 92,488 A3,007
Y= THY| 3,000 4,200 A1,200
203 YL =TY| 3,000 4,200 A1,200
e EEEEESST 3,000 4,200 A1,200
ORN2YAR =AY 250,000% 122 3,000
st oy 50,481 49,888 593
201 YEr2gy| 50,481 49,888 593
01 At 22| b 48,637 48,044 593
CEIES=Yi] 20,433
LV BI PN 5,825
OSAIIEH(E) Y 300,0002+15]«2CH 600
OUOIHIREDISHEH (SS) 7Y
120,002l *25| *3CH 720
OO M ZRIEDIZAEH(SE)2Y
400,0002! 181 % 1CH 400
OMYIIZERY 1,3002 %307} « 122 468
OYHSATIUYILME 300,000 +13] 300
O=SAENTY 20,0002 #3084 £ #33] 1,800
Ogg8+7 140,000 * 122 1,680
OArZARI2QIAD| 212 120,0008 %122 1,440
OM+ZABENZ 600, 0002 128 7,200
o2y+g 25, 180
oY=yl 50,0002 #1234 1162 5,800
O==E(BY) 50,0002 *12§ x2522) 12,600
O%HI(B - §) 60,0002 %12+ 1132 6,780
CEEEI 3,024
LV BIE T 3,024
02 B2l 1,844 1,844 0
CNEETES 1,844
OFE K= A 22 300,000 x25| %2CH 1,200
OZRIE D22l 34,0002 *43] 4TH 544
OBAS T 1000002 18] % 1CH 100
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A dot=E A A
M HHE2AZGI(IIEH/DIE)
Eel: JI2ZHI(Aot+ZAEA) &)
SN I SRI(S) - NRAY - B sk S 2
0f 4 o8
ol 36,000 38,400 22,400
202 44| 36,000 38,400 A2,400
01 =i bl 36,000 38,400 A 2,400
OJl=gdR=304l 200,000& «15H 123 36,000
HesS (Mot MG (BBES/Hot+E - =2) 4,226,000 4,444,000 A218,000
= 2,288,000
= 1,938,000
HWEAHHX S (Aot =S A ) 1,938,000 2,092,000 A 154,000
H-EEEINEES 1,910,000 2,078,500 A 168,500
701 JIEtSIHNMES 1,910,000 2,078,500 2 168,500
O1 JIEtSI AN ES 1,910,000 2,078,500 A 168,500
OY=TEEHEES 1,910,000
OXeal=EAlE ST ALY 500,000
OXNga=E2E2F 22| 800,000
O=x2(8=)72l 600,000
OZE=IIEXIAS 10,000
THNHELEIHEES 28,000 13,500 14,500
701 JIEtSIHNES 28,000 13,500 14,500
O1 JIEtSIHNES 28,000 13,500 14,500
=HINLHSEIHEES 28,000
o0t Sot=E 23l 9,000
OMz0tsot==23Z | 2,000
Osgitsst==29| 9,000
Ositsot==23 | 8,000
BAEXNE(Mot=TAIEA) 2,288,000 2,352,000 264,000
= 2,288,000
DEctMelZEEXNASEX LS &S 2,009,000 2,065,000 256,000
= 2,009,000
311 Xt SOl Xrake 217,400 273,400 A 56,000
= 217,400
06 JIEt Xt = Ol Ah&at &t 217,400 273,400 A 56,000
ODnHEot=XHelEEIMBEXS0I A& &
217,400,000& 217,400
= 217,400
601 At =Jsate 1,791,600 1,791,600 0
= 1,791,600
06 JIEI=UXL == 1,791,600 1,791,600 0
Olndot=H2E LML EN=E St 1,791,600
= 1,791,600
DEot=MelZDEXHeANEAMS SR S aE 184,000 189,000 5,000
= 184,000




ot ALY
SEE(AMBATAA)( +3)
HXE(Mot=ZAIH L) (etel: =3
A= el (sl) - o . sk e B RS2
311 XL SO0l AH&r e 34,800 39,800 /5,000
= 34,800
06 JIEtXt Ol Xt &f & 34,800 39,800 /5,000
On4dst=xel =
=iy 34,800
= 34,800
601 Xt 3 &b g 149,200 149,200 0
= 149,200
06 IIEI=UXE == 149,200 149,200 0
oREs+HEIRD &
=y 149,200
= 149,200
Dot EsHXKHeAMEAMNSES 95,000 98,000 A 3,000
= 95,000
311 XS SO0l A& e 15,800 18,800 /3,000
= 15,800
06 JIEt Xt = 0f A&t 2t 15,800 18,800 /3,000
OlndotrHMelEsA XM AEAIEEXNSO0IR}
&b g 15,800
= 15,800
601 Xt Sz &e 79,200 79,200 0
= 79,200
06 JIEI=UXILSE 3 79,200 79,200 0
Odot=XelEscl NXMel Al & A =¥z
aof & 79,200
= 79,200
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